Adding/Subtracting Decimals (C)

802.1+6.4 =

58.58 + 4.583 =

80.7 + 65.11 =

695.736 — 7.45 =

81.775 + 1.228 =

90.4 — 53.56 =

77.357T — 4.6 =

185.7 4+ 8.854 =

707.4 4 84.7 =

96.992 — 1.223 =

Calculate each sum or difference.

67.4+ 8.26 =

714.2+79.010 =

39.8 4+ 1.17 =

49.299 — 44.341 =

5.8 —2.950 =

1.5+14 =

202.76 + 37.59 =

74.460 — 3.1 =

63.2 —37.5 =

398.91 + 24.27 =
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Adding/Subtracting Decimals (C) Answers

Calculate each sum or difference.

802.1 4+ 6.4 = 808.5

58.58 + 4.583 = 63.163

80.7 +65.11 = 145.81

695.736 — 7.45 = 688.286

81.775 + 1.228 = 83.003

90.4 — 53.56 = 36.84

77.357 — 4.6 = 72.757

185.7 4+ 8.854 = 194.554

707.4+84.7="792.1

96.992 — 1.223 = 95.769

67.4 + 8.26 = 75.66

714.2 4 79.010 = 793.21

39.8 + 1.17 = 40.97

49.299 — 44.341 = 4.958

0.8 —2.950 = 2.85

1.54+14=29

202.76 + 37.59 = 240.35

74.460 — 3.1 = 71.36

63.2 —37.5 =257

398.91 + 24.27 = 423.18
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